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e et 4 22:00 | 22:30 | 23:00 | 23:30 | 00:10FEE | fHE=ER
ST I = o = G 300 600 1,200 1,500 1,596 6.26
Ll »EH BFH 100 300 900 1,500 1,514 5.94
Ll HlE LLOA 200 400 700 1,400 1,499 5.88
L A LT 100 400 900  1,300| 1,395 5.47
B W DA 100 200 900 1,300 1,386 5.44
RGPS 100 300 800 1,300 1,337 5.24
Y NER A 100 200 700 1,200 1,216 4.77
Ll R HEDH 100 300 600 1,100 1,157 .002 4.54
B HAN xS A 100 200 500 1,000 1,094 .256 4.29
B HRH ESH 100 300 600  1,000| 1,082 .497 4.25
L EFF AR 200 300 400 1,000| 1,069 4.19
Ll EK EIE 200 400 500 900 987 3.87
Bl EE HXK 200 300 400 900 944 3.70
L o BH e\ 200 300 600 900 937 3.67
Ll A EHF 100 300 500 900 906 3.55
Y| HFR AV 100 300 600 800 845 3.31
Ll Bl 9 100 200 300 800 824 3.23
L HA IEK 100 300 300 700 776 .245 3.04
Bl mE bHEE 100 200 400 700 771 3.02
W X 7EIE 100 200 300 700 771 3.02
SN 100 300 400 700 769 .997 3.02
M| =g O 100 300 400 700 765 3.00
%l OB FER K 100 300 400 700 756 2.96
W% | BEHR B 100 200 300 700 738 2.89
% AfE Lo 1 100 200 200 300 364 1.43
= it (A) 3,200 7,300 13,800| 24,000 25,499 .997
33 = 22,697 18,597 12,097 1,897 0
Bl 2 &R (%) 12.4 28.2 53.3 92.7 100
) 5 % o R B 0.003|Ff Jm © ZE (G) 1
Al 1B S/ EE () o9~ = B (1) 0
A % B = RO 25,500 (4% 3 i (I=F+G+H) 25,897
mogh K& = OH®E 96| E O OEOK 289.772
B i B(F=D+E) 25,896|fit FE M & I A 115.909




